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Goods which are consumed together are called

(A) Consumer goods

(B) Substitute goods

(C) Capital goods

(D) Complementary goods

World Water Day is celebrated every year on
(A) 22" March (B) 29nd February

(C) 30* May (D) None of the above

Some boys are sitting in a row. P is sitting
fourteenth from the left and Q is eighth from
the right. If there are six boys between P and
Q, how many boys are there in the row ?

(A) 28 (B) 30

(C) 26 (D) 27

Recently, a new digital payment mode was
adopted which is person-specific and purpose
specific payments system. It is

(A) e-RUPI (B) BHIM
(C) CLASS (D) e-RUJU
Dog : Kennel :: Horse : ?

(A) Shed (B) Aviary
(C) Farm (D) Stable

The far point of a myopic person is 80 em
in front of the eye. What is the nature and
power of the lens required to correct the
problem ?

(A) +1.25D, convex lens

(B) —1.25D, concave lens

(C) +0.8D, convex lens

(D) —0.8D, concave lens

KYC compliance is a mandatory exercige
under the prevention of

(A) Money Laundering Act, 2000
(B) Money Laundering Act, 2001 e
(C) Money Laundering Act, 2002 § A
(D) Money Laundering Act, 2003 .

Consider the following statements a :
Health Card Scheme. bout Soil
a Itisa Gtecévgmt:}n;ent of India’s scheme
promo y the Department.of E
and Co-operation under the mmmre
Agriculture and Farmers Welfare,

b. It is used to assess the current statug of
soil health and when used over time, to
determine changes in soil health that
are affected by land management.

(A) Only the statement a is correct
(B) Only the statement b is correct
(C) Both the statements a and b are correct

(D) None of the above

1.

3 g T W1y @O Bt
@ sl —  FEORe|

T st foam & o

(4) 22 7K q(g?zm

(©) j;a; & (D) 3vem & & 71

IO AGF AR AR E | P

ST QL 3 ot e o p o

& W 6 ST &, al Ul § fohad wrad § 7

@) 28 (B) 30

© 26 D) 27

T 8 H, w7 fesflest ypram &1 adst stgamn

w%%shwﬁﬁﬁﬁeﬁnmﬁﬁmmeﬁﬁl

T8

(A) e-RUPI

(C) CLASS

W:Qﬁl—m::tﬁ?ﬂ:?

(A) T (B) u&fteme

(C) B (D) 3=

T % GHE T Tene g Qv g =3 fa a1

fag 80 ®. M. R | vaEn I Gt A & forw |

o9 f ypfa s afm = 2 7 ‘
i

(B) BHIM
(D) e-RUJU

(A) +1.25D, 30 =¥

(B) —1.25D, 379deT o

(C) +0.8D, 30 =™

(D) —0.8D, 3add =g ;
&3, argueH £2 = I
UhUTH & ded U AfaH | R |

(A) TTmYT AffEm, 2000 [
(B) g=snYT arftrfem

©) frfem F
(D) w=smYT ffgy, 2003

FTS i Al
%ﬂﬁml Ao o aR § Frforfa

. T8 FTY 31K P e & ieid Fi AN
g LR sl e

, 2001
, 2002

T .
g R bl s
T T I .
8 REdAT 1 ga F 3 fore, S {9
mﬁaaaé,m;‘?%ma*ﬁ i
(A) T a A B
® oo bt 1
(D) 39T H & HIE 7=}

r"‘-hnu.-..._....n.__. iy
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10.

; 11,

Directions (12 - 14) : Read the following
information to answer the questions given below.
Eight students A, B, C, D, E, F, G and H are
planning to enjoy car racing. There are only two
cars and following are the conditions :

i 7

I1.

III.

IV.

12.

18.
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A boy rode his bi
turned left o e et

nd moved 1 km an
left anq rode 2 km. He found himge]s
one km wegt of his starti Aty

: ; Ng point,
did he rige northwards initially ‘? t How far

(A) 1km (B) 83km
(©) 2km D) 5km
CMOS stands for

(A) Cathode Metal Oxide Silicon

(B) Complementary Metal Operating Silicon
(C) Cathode Metal Operating Silicon
(D) None of these

Within the meaning of provisions
Section 41 C(1) of the Crfminal Proceuggf-:
Code every State Government shall establish
a Police Control Room (PCR) in

(A) Every district

(B) State level only

(C) Both district and at State level

(D) State Secretariat only '

d agail'l turne d

One car can accommodate maximum five
and minimum four students.

A will sit in the same car in which D is sitting
but H is not in the same car.

B and C can’t sit in the same car in which D
is sitting.

F will sit in the car of four people only along
with A and E but certainly not with G.

IfE and A are sitting in the same car, which of
the following statements is true ?

(A) B is sittingin the same car

(B) Five students are sitting in the same car
(C) G is not sitting in the same car

(D) Fisnot sitting in the same car

Which of the following statements
is superfluous for the above gitting

9
arrangements ? ®) onlyl

A) Only II
EC) Only IV @) Oy 1T

EERE

Rwnfdw (12 - 14) - R A E g =
wfeu 3k A= fow 7o gl & 3w i)
e faamefi A, B, C,D, E, F, G 3R HFR A

:ﬁgﬁaéﬁﬁmw%% | Shered &1 i & 3R FRrferiaa
|

I

111,

12,

18,

CMMS - s3

agaﬂsﬁtiﬁaﬂlﬂﬁﬁfaam@%ﬁi
g o 1 e . =TT SRR e e 2&.:1F.z
el | 36 T AT IR Rz % ofeem F
w .. I | S IW A 3R et =
e ? i
a) 1%, B) 3 5.1,
©) 2. (D) 5.4,
CMOS & foTe o 3
(A) HUrE T2 s ey
(B) Hiciett Heat SR Risfiei
(C) s Aee ATRFET el
D) FH 4 HS T
3g gfsear Gfear 1 9rT 41 @ (1) 3 T5a yrauml
F o & Farld, TS TT TFN i
& gfera Frmor et (deftem) sl woft |
A) &=
(B) %adl T &
(€Y. THI foren R Tsg T W
@) Fad TF Gfeare™

10.

11.

WY% FhC
4

A DEBE HRCEG

L. T %R H stftrepan gt afk =gan aw foaeff an
THa § | '

A 34t 1 H a3 fored D o1} W H I FR
LR

B 3 C uep ot o 3 7 o wr) Foreif D 3 |
FaR i arefl s 3 93 aet A 3iE & a9
A AR sed 6 & e |

R E 3R A s wwd 8 €, Peafafaa § @
- FyT e & ? 6“‘?8\(”

(A) B3 FR A I8 R
(B) i foremsff 3ot w43 & ~

©) G mr A adida1 2.

(D) F3Ht R & & a1 2

IR Yoo ey H gy A Frefiiaa 3 A FA-T
F Afife R 7
(&) e 11

(©) e 1v

(B) ¥ae [
(D) Fae 1

X1
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15.

16.
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18.

19,

20.
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same car, who aré

IfH and G are sitting in the the same car ?

other two students sitting in

dD
(A) B and C (B) Ban
() Cand D (D) Eand B

India’s tax system is regressive with heavy
dependence on

(A) Loans

(B) Direct tax

(C) Indirect tax

(D) Commercial tax

Find the value of X.

(A) 299
(C) 298

(B) 399
(D) 308

The sides of a triangle are in the ratio
111

and its perimeter is 104'cm. The

2 3 4

length of the longest side is

(A) 52 cm (B) 48 cm 0}40)
(C) 32 cm D) 26 cm %}:‘]

South Asia Seas Programme (SASP) wasg
adopted in

(A) 2000
(C) 2010

(B) 1995
(D) 2001

The long ridges of deposits of glacial till jg
called as

(A) Moraines (B) Eskers
(C) Cirque (D) Drumlins

“Climate Change 2021-The Physical Science
Basis” presented by

(A) Intergovernmental Panel Climate
Change (IPCC)

(B) World Trade Organization
© UNESCO
(D) UNICEF

14.

16.

16.

17-‘

18.

19.

M3 g,

WﬁHﬁIGEﬁWﬁﬁéﬁ,;ﬁm ,'
TN A = R A-ag, iy
(A) B3RO B) B
() c3rD @) Eﬁﬁ
‘ﬂmiﬁ'mm_____'q:[m
Ffear & w1 s 2
(A) =R
(B) T34 I
(C) TITE FX
(D) aTforyes
xmmmzﬁf{
i i
&> 4\
o & 7
Yol il
A |
299 - |
(C) 298
T Bs it et @ s : *
TEH URATY 104 AT | g et g A T ;
(A) 52 A ®B) 483 {
(C) 32t @) 26 ¥ i
<féon wftrnd s o e A ?
W wiwd |
(A) 2000 B) 1995 |
(© 2010 (D) 2001 |
Rt % Pl ot it ey et €
A) thtrs-"\q ®B) qﬁlf ,
© uwh ) Fe
FGHE T 20212 e aEA AT —
(&) TR et e (e A
®) T 33 AfTESRA
(C) UNESCO
(D) UNICEF
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21.

unitperforms the arithmetj, -

(A) Input unit

(C) Output unit

D) ALy

In this question, two statement
followed by two conclusions.
conclusion(s) which best fit(g) 1o
Statements :
1. Some plants are trees
2. Some leaves are trees
Conclusions :

22. .
S are given
Choose the

gically,
\: @ruﬁa“‘
I. Some leaves are plant
II. Some plant are not tree
(A) Only conclusion II follows
(B) Only conclusion I follows
(C) Neither conclusion I nor II follows

%% (D) Both conclusions I and II follows
E¥AE

23. The eighth term of the G.P. J‘?_;‘, Jf,
32,36 is ﬁj&:&;{fﬁ 106
@A) 2742 ®) 96
©) 276 D) 27

Mass of living matter at a trophiclevel in an
area at any given time is called

24.

(A) Primary productivity
(B) Secondary productivity
(C) Standing state

(D) Standing crop

Who was known as the founder of the
Mamuluk ?

(A) Ala-ud-din-Khilji

(B) Iltumish

(C) Jalal-ud-din-Khilji

(D) Qutub-ud-din Aibak

gification
Which of the following is 0008 S22 5
i i tronic whi {)/ﬂ
of the interactive elec

(A) Touch-based whiteboard

26.

26.

21.

22.

28.

24,

25,

26.

(B) Pen-based whiteboard g
(C) Wii Remote, IR pen-base bot
(D) Flat bed whiteboard

b-

%@fﬁ

CMMS -S3
THIE 79 ST Y g
(A) @A T (B) veR 3oh7d
(C) Frfa goré @) ALY
7 91 8, A RU T E R ae )
fospd R mu & 1 3 Fred g i =g @
et s 93d € |
&Y a9 %
1; gazg |
2.%2%3&%!
frewd
1. $ ufeai A g |
II. $9 118 g&7 7 € |
(A) Faa faspd 11 rgar oiar
(B) Fad fsr I srgawor e 2
(©) 7 fshd 19 € 11 erge e @ C
(D) A Freard [ o 1T orgew i & =
G.P. \/.El Jﬁ_, 3\/51 3\}6 &l 311331" Qe 2%
I RExe
@A) 272 ®) 96
(©) 2746 D) 27
et fow gu o & v @7 & v @ ER WA
verd T R 2
(A) STy SeqTeehat
B) s sameFar
(C) =it feufa
(D) TR BEe
TN TR % YEUTGH % w9 3 ST o R ?
(A) e-3I5-fea-figesh
®) segfm
(C) wietTei-3e-fe-figesht
(D) Fga-3e-faa da=
Frefirfen & @ -2 e SN TR
¥ vg &1 el T # 7

(A) wqsi 2memRa &a 13

B) ¥ mutha @d v

(©) & (Wii) fsiie, IR ¥ amTita vad g
D) wwae &a

X1
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CMMs g,
find out 27. ﬁ‘l:qﬁ‘.]-%a .
; f numbers’ ared A& mﬁ 1.3
 In the following “erlesa?ld 7 have apP:nd 3 ST e ot f 1 3]1(7%;311%
o7 3 dl 3K 3 &
e ;lnam; im};’; ir; the middle an 7 aq'_a i 3\ 7 mmﬁ
ther, el
;iggithersidegffa?:i 1738671 377173 33;3 1218771 33173857,
29731737719 ' i .
906 4) 3 r
®) 4 B) 4
3 b
oo Dt | O D
Poh' 2 . 1 specd storage units Wit ' —— AL 35 71 sy
£ g8 arehighsp capacity- THIETT B T ST e
’ Sk (&) ALU B
(A) ALU (B) U
(O) Registers (D) None of the ﬁl?ove ©) [":‘l 34 D) mﬁz}aﬂgm !
. 929. Select the correct mirror image of tl?e g’lggn 29, ?ﬂ T[g 3“?'%' ol HE.‘TE&UI Hﬁﬁqaﬁqmm# '
figure when the mirror is placed at line AD. 1@ AB RT@T ST 2 |
) P X Eﬁ% 2 5N |
> ’ > "
9 K
B 2 -
q S q g q [S q [
4) (B) A
N 4 0 - ®1 4
b e K e S e K@
q g q g q T q "
© Q (D) Q (&) Q B Q
b e b 9 b e -
30. What is liberalization of foreign trades ? 30, faeef SR 1 IeriE w1 !
A) The removal of tr e '
s o fal bormee aud =R st o A
: %Jgeign trade nven STIR G THT G
e introduction of barriers and B) H}ﬂ\m W R W
restrictions set by the government 5 q TEAT
domestic trade FhEen S e TR
© Thi introduction of barriers and (C) e SR R AR A
g:efglglt lg'r;?iset by the government on 3l sftare it L
(D) None of the aboye D) SR LR waat
81. In Cyber Law terminology ‘Dag F £ yeemEet # ‘DDoS &
vym A) Distant O &y : DoS’ meang g1, IE AL mﬂﬁa
G Dise perperr Service ) R e
18¢ Uperati I -
(©) Distributeq %‘Sfiy? e ®) %ﬁ%@ﬁw it A
(D) None of thege &1 of Service © sﬁ A @
32, Modem is ac (D) Ma |
=l
8) Mogigomymfor A _—— iR
100 - de-modifienti 32. W
(B) Modem — Ncation (A)
DemOdem W
(©) Modulator @) W ot
(©) Modulgy . e Sodulator AT
= Demodylay ()2 _W
X1 @)
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33. The port which is also *hown as

‘Deendayal Port.

(A) Chennaj
(C) Kolkata

(B) Kochchi
(D) Kandla

” 2.70x 2.70 4+ 4.30 x 4.30+8.60 % 2.70 5

2.70+4.30
(A) 6.8 B) 7.0
©) 76 D) 8.5
35. Which enzyme de grade the Cellulose ?
(A) A?tnylases (B) Cellulases
(C) Lipases (D) Lactases
36.

identifies the text, links and
other content in the page and stores it in the
search engine database’s files. So that the
database can be searched by keyboard.

(A) Table

(C) Indexing
RRE
37.

A technique in which the results of virtually
all previous studies on a specific subjeci_; are
evaluated together

(B) Inbox
(D) Draft

(A) Systematic analysis (B) Scoping analysis
(C) Realist analysis (D) Meta-analysis

38. The number of straight lines that ct:arl;]i bll’.l‘,
formed by joining 20 points no three4of g:hein
are in the same straight line except 4 0

which are in the same line

(A) 183 (B) 186
(C) 197 (D) 185

89. Viticulture or grape cultivation is a speciality
of the which of the following region ?
(A) Temperate ®B Meda:t.erf'anean
(C) Arid D) Semi arid
538621 7

i 421
40. Inthe series 6412287 £ successive

1413286howmanypairso e
numbers have a difference of 2 eac

A) 4 ® b

o) 7
(C) 6 I

83, dg seUTe PR dHeaTeT SeUR ¥ qm A oft ST

S@re | ,
5 (A) ¥ (B) wife ’V%
& © FTRT (D) e a
2.70%2.70 + 4.30x4.30+8.60x2.70
8k 2.70 +4.30 -
(A) 6.8 By 7.0
(©) 7.6 D) 85

85. FI-T1 TEH Vel T TR FAFAT 2 7

3

A) THTZES B)
Ec;amﬂa (D) gggq
36. yss | 2w, fore 3t ey ammft €
) g T 8 3R T $94 ey Y e
# TR StaT & a1f Sereg #i FiaiE gr @ie
ST |
(&) 2 ®) FEi
(©) R D) TR

87. uh Uelt e Forad el RifRree Rreg s e

ﬁ%ﬁwamﬁ%w&umm@mm
R smar @ |

38. 20 fagat 1 frem) & =3 areht e Yot
T, T 4 ) S N o v
o e it efteht Y o et @
@) 183 ®) 186 o
3. Ntmem
ARHadt Ao A g ay ¢
I fardtyar 2 7 1
) T (B) T (o
©) = D) 3 T 4
40, ’iiamﬁ_gmzs':gl@&_eg
: 1714132
869wt wamed &
@) 4
(C) g ®) 5
D) 7

X1
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43.

44,

46.

46.

47.

48,

X1

nct
Commercial Banks 8%

o the py
s to

and advances b P
economy needs. It lea

(A) Currency inflation
(B) No inflation

(C) Credit inflation |
D) Deficit-induced inflation

The animals which havelthe ability

to change the colour t0 hide them

from their enemies (camo@age)

This protective coloration 18 called

(A) Adultry B) Cqmn;nentry
(C) Mortury (D) Mimicry

The Keoladeo National Park is in the State of

(A) Gujarat

(B) Himachal Pradesh
(C) Uttar Pradesh

(D) Rajasthan

Sickle cell anemia is due to

(A) Mutation (B) Evolution
(C) Recombination

is the In-charge of a zone, which

comprises few ranges.

(A) Inspector General of Police

(B) Deputy Inspector General of Police
(C) Senior Superintendent of Police
(D) Superintendent of Police

monitor screen.

(A) Pointing device
(B) Wireless device
(C) Network device
(D) None of the above

Gradual increase in the average temperature
of the earth’s lower atmosphere is known as

(A) Ozone depletion
(C) Greenhouse gas

(B) Deforestation

The Constitution of India was adopted on
(A) 26" November 1949

(B) 26" November 1952

(C) 26* January 1951

(D) None of the above

jon more loane
blic than what the

(D) Transformation

is used to communicate with the
computer by pointing to locations on the

(D) Global warming

42.

430

44,

45.

46.

417.

(A) T1 whify
(B) whifer i
(C) =1 =hify
(D) wrr-3fe whify
B A7 31w vl (s
S %lwﬁmﬁgﬁggg
@) T (B) F
(C) wieghh D) fifteh
EERICCRUSIDRCHICRE T Rk & &
(A) TSR
(B) T yeu
(C) I T
(D) TSI
FFO AR |
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d\
e 2 2
=
eszn 2R it n- - qu ’\-/\\ & CMMs_ 83“2],
Wt ?Sul \ \ b / !/
-'i—ba‘z:: PR g 2‘:% 1 4‘;/‘/
Wg*i?;{xilzglg;’? 3 w> 49 ’f&} 3,71,114, 1857
49- 15; Jy T, 1 1, ] )y 4 W ! b »
Which numbell(' Qwill come in the place of * 5 T8 F T WA - gegy 7
questions mark ! A) 256 ®) 299
B o B Ec; 351 D) 581
(C) 351 (D) 581 3 - *Wﬂmmg |
50. Reproduction through spore formation is 50, —— ST Al
common in @ T ®) Wan "
(A) Fungus (B) Protozoa © D) o 6
(C) Bacteria (D) Arthropoda 955,
51. The world’s oldest existing books printed 51. =l m@ﬁﬂﬂ?ﬂﬂﬁﬁﬂﬁﬁfl]ﬁﬂﬁﬂtﬁﬁ@ /%
with movable metal type T<$ o 3 9{
(A) Emaki (B) Ukiyo-e @) Fh gl 5
(C) Biblia Pauprum (D) dJikji (¢ fafscran argw™ (@) for %
52. If 22.5 meters of a uniform rod weighs 52. afe 22.5 WX TH GHI ©S I I9Id 85.5 ‘%ﬁlﬁ?lﬁ /CT .
85.5 kg, what will be the weight of 9 meters %,a‘ta;ﬂm% 9Iﬁa‘®3ﬂa~‘f—'§;?"‘" ,g/‘*i
of the same rod ? S (B) 38.4
k (B) 38.4 kg (A) 42 :
E%)) éi.2gkg D) None of these (€) 34.2 'ﬁ;‘m a%)) F{ﬁ ﬁihbfg?tﬂ :1&5_,
|
53. POP stands for 58, POP _% ferq amar &
(A) Post Operation Protocol (A) UL AT ;ﬁ—gqu-;a
(B) Post Office Protocol (B) 9 Q;Iﬁsq g’@aﬂq %
(C) Proper Online Protocol (C) TR TR Al
(D) Post Online Protocol (D) G AT 41 G Al
54, The term Secularism is first used by the | 54, oqeriaw wea @1y wevem N S
" British writer in'1851. ' Y 1851 % R o |
(A) George Holyoake (A) SIS Bt
(B) C.S. Lewis ®B) H. g, wfe™
(C) Kazuo Ishiguro (C) gt HNUW
D) E: M. Foster D) §. T, B
56. Which shows maximum catenation property ? 55. =\q-wr afEan ﬂ@m'ﬁ“‘ Gl 27
(A) Si (B) Se T () Si @®) Se
© ¢ (D) Te ©) ¢ ) Te
) - form a cube, 5 aﬁa;ﬁqﬂ’@w
56. When the given figure is folded to foriZ.{ 6. S T T ?
which number will not be adjacent to ‘2 ? 2a ﬁq_\:’ﬁﬁ o e L ﬂﬁﬁ"f’n !
-5""| E! HY H
412 E%la " E
: 1
3|6 E 6
3
A) 6 ®) 3 @ 5 ®)
©1 ik © 1 @) 6




57.

68.

59.

60.

61.

62.

63.

66.
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v/
: ‘ 4 cmg, The

The surface area ofa .Sphere 18 15
volume of the sphere 18

8
A) 1437%011:.3

2
— cm
(B) 1793

ge
© 359% cm® (D) None of the

____ connectsthedifferent exwmﬁ‘;:vsé
peripherals, expansion slots, /O ports
connections to the rest of the computer.

(A) Internal bus (B) System bus

(C) External bus (D) Data bus

The Article 324 of Indian Constitution
provides for an Independent

(A) Public Service Commission
(B) Election Commission

(C) Finance Commission

(D) Planning Commission

Petaloid bract present in which of the
following flowers ?

(A) Adhatoda (B) Bouganinvillea
(C) Palms (D) Banana

“Ain-Deeh-Sala” land revenue

system is also known as

(A) Military system (B) Zabti system
(C) Religious policy (D) Zat.system
Chemical formula of hydrated copper
sulphate is

(A) CuSO0,.5H,0 (B) CuSO,.6H,0
(C) CuSO0,.4H,0 (D) CuSO,.3H,0
In a certain code, MONEY is written as
‘513141525’. How is ‘BLACK’ written in that

6‘XAM =\

code ?

(A) 1321112 ®) 1321012

(C) 1213112 (D) 1231112
‘SVEEP, recently seen in the news, is related to

(A) Voter education

(B) Spreading voter awareness
(C) Promoting voter literacy
(D) All the above

In a group of persons travelling in a
6 persons can speak Tamil, 15 can gpl:;:i;
Hindi and 6 can speak Gujarati. Ip tha
group, none can speak any other lan et
If 2 persons in the group can speg t&,
languages and one person can speak all tho
three languages, then how many People :
there in the group ? e

0 23 D) 24

) 21 (B; 22

2l

rgwaJ(ms.in"
Ay

. iy - L“/,
67. T -
Aa R
568,

59,

61.

62.

63.

64.

65-

CMMS - 83
YRETHA  1540m? 3, @

%

1

A 1 )

L UL o T
e =, 10 0 ot zra 3 ’
Sy
@ atEwam @B Remay
b (D) 317

el e o srgeaa 324

WEEA_ KIS |

B)

(C) %:ﬂm

(D) AT AT

Pferfae 3 & firver g H deeiie S deg T 8 7
(A) ¥R ®) ik
(C) T D) el

| o SOTeh! “U- e -ATe” el &

(A) & et (B) W&l yomredt

(©) fif Afd (D) ST orrett
Wﬁmmmmﬁmtﬁ%

(A) CuSO 4.5H20 B) CuS0,.6H,0
(©) CuSO4.4H20 (D) CuSO,.3H,0

MONEY' & 51341525 foren S 2,
R YOS S Y e
@ 123112
ﬁaaﬁﬁm‘SVEEmeﬂ“ﬁ% i
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66. Shri Ram]g)] 6‘(— 798 \
. mig pu_rch
and speaker Rs, Soeda TV ae TorRe 19500 | g6, AT AT AT AT 15005 N2
Ba £l it(;g au;sitl;a]latmn. At what p,.ic‘gos:il and qftged T 3. 300 3K Wi g )
8 earn an overall prof ¢ 1&’%1 & T | AR 15% F T AW afifg 3?{':10;: T
& (A) 14,560 B T 3 7 A A A Ay 7 ferg
. ; 1§ St
(€) 15,640 D) 15.375 g i;.zig g) 1437 |\ <&
67. Hi-tech and Ultra Modern Ory ‘ : ] ) 16315 %
Hatchery is the only project inaﬁental Flgh 67. TR-&F 3N A H@Wﬂmmm I
approved by the Govt, in orth India 2} ek T RN o S 300 R 2
(&) Chandigad (B) Jhajjar (a) wiETG (B) won
\©) Nuh (D) Sonipat © T (D) W
68. The Article of Indian Constitution related to gg afaus #1 PH-a1 AT §
the Amendment of the Constitution B v § dafta 8 ? Hwm &
(A) 238 (B) 224 '
(A) 238 B) 224
(€] 846 (D) 368 (C) 346 D) 368
69. Recently launched PM-KUSUM Scheme | gg FyedH L
aims to help farmers to access reliable ' 31;[ m ﬁwﬁwmﬁgﬂ?ﬁ
(A) Solar Power &) Rz A
(B) Water (B) ST
(C) Drinking Water (C) W vI&
(D) Liquid Petroleum Gas (LPG) D) TafeRre Wity i (va.dt.st.)
70. Rivet popper hypothesis was proposed by 70. gﬂé IR IiEmeTT LU SLEG]
|
(A) Raman ®) AVon I;I“m""ld" @ ®) v IR
(C) Paul Ehrlich (D) Convel (©) v srRfs psga
] th Jetter o
7. Which letter is T to the right of the 18%Ie% | - T1. * wvfutren & ang g 3t 19 J ot g @ 7T 3w
from the right end of the alphabet ™ @iz R =
@ K < o - ® 0 e
C) P teelf 17| 72, ;
12 Th umber Wthh when added to 1ts€ Eg:@-lﬁ m HATY ‘E 17?]'{3}@“::‘3:"3”&?{00@
i result, 18 162 W gt R, agawi_\s""‘ =
times gives 162 as @A) 7 s
®) 8 ®) 8 1y T
(é) T ) 10 o ” ©Sr 9 D) 10 —(’ﬁj l,k
s ingscary SV S ot e A T o
73. The hormone produceddur! e % j—
in animals is &) wfgfery radl éi’:; <3
(A) Adrenaline B) tiwfteifm 214 IS‘
(B) Oxytocin (©) yrmifRe »\,f/sé%
(C) Thyroxin f D) gr2-smeemriamg i
(D) Tri-lodothyronin® pple® | T4, Wi mﬂﬁ
re an exa ? im aﬂt ﬁ%ﬁ <hell
4. Music, dance a.md fine arfs ¢ i 8
institution catio?
B) gdv ic
(A) Social po

B 1-
(C) Expressive ® 1
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Winter Olympics unveiled its official motto
EXA N~

(A) TOget.hell for sports

(B) Together for a shared future

(C) Together for healthy environment

(D) Together for healthy future

Which one is not the language of internet ?
(A) Perl (B) HTML
(C) XML (D) COBOL
Rahul told Anand, “Yesterday |
defeated the only brother of the

daughter of my grandmother’. Whom did
Rahul defeat ?

(A) Son (B) Father
(C) Brother (D) Cousin

The HCF and L.CM of two numbers are 8 and
48 respectively. If one of the numbers is 24,

then the other number is

f s
A) 48 (B) 36 ¥ i
©) 24 ® 16 o

In a row of children, Hari is eleventh from the left

and Manjula is seventeenth from the right. When |

they exchange their places Hari will be thirteenth
from the left. Which of the following will be in the
new position of Manjula from right ?

(A) Eleventh (B) Twenty ninth
(C) Twenty first (D) Nineteenth

The moment of inertia of a thin uniform rod of
massMandlengthlaboutanaxisperpendimﬂar
to the rod through its center is I. The moment of
inertia of the rod through its end point is

|
(A) 1 B) 3
©) 21 ) 41
The Head Office of SAARC is located at
(A) Delhi (B) Dhaka
(C) Kathmandu (D) Colombo
Rhizobium fixes
(A) Neon (B) Nitrogen
(C) Argon (D) Hydrogen

-12-

=78 5(A)Wrrsa’f
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76. fiw Nf&fmm A AtERs amed amg
aTE fém
(A) FEER W
(B) TR Bt T a8 T
(C) Tha B A THaTETz

D) it 3ol W=

76, FH-MTTRATHNAAL 7
(A) Perl (B) HTML
(C) XML (D) COBOL

77. TGS A G B Fe, “He A A A0 I A G FH
Fehelia oTé 1 T | Uge A Tl g 2

&) ®) fa
(C) 9§ (D) = 9§
A gl # WEWW ®WNEds I HEd
gHIEE w9 8 3R 48 8 | Al T T 24 7,
digEt Hem FR ? €&
(A) 48 B) 36—
(C) 24 @y 16
79. st o ue ufeR H, Bt and & mweat @ oK wegen

I & ToEd] ® | 99 9 9 T TR 950 8
y M el and @ degei g | Fefoted 3 @S-
m;\ I | WA & A T B 7

B) IEat

(C) sl (D) Feat
A M 3R ST | aTef] U Yaet HF S8 6

TEa1 ol TS F 3 | 76 qaad Th AT I
2 | g sifew foig & e e TR @

78.

80.

!
® 7
(C) 2L

I
®) 3
D) 4l

e & g el fRm R ?
@ fegt
(C) FHY

8L
B) BT

(D) e

82.
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(A) A think tank
for ¢ ;
Products induatryhe Indian gop,, s g3, omfAfE?
(B) A thi . @ (A) TR TRAT IR Jey
think tank f - i : %y
20 Ior the Amey 9, e (R &) AL
Products indust Erican gy, : gg% &
() A think > e (B) 3T ST ST 3 3 g
bt tank for the Amerjcay, w gﬁﬁ =) ®
rdware products industry (C) 3 maﬁwﬁ%mq_ﬁ
(D) A think tank for the Indian hy ew (e ¥%) ¥«
Products industry rdware (D) WRA BRI Ie9T8 Feimiy %f@{mm
84. The United Nationg declared th ’ A
eyear2020as | 84, wYH U A A 2020 Y o w9 H Mg ey 7
(A) The Internati ; -
(B) The Ilrit:ernen1;1;::1&11S‘KIMr offS;us o . et ﬂgﬁ?ﬁ;ﬂig’fg ‘:é-m)
onal Year of Pulses (IYP) B) &I 37 (. T,
(C) '(I‘IhYeP Il?temational Year of Plant Health (C) UIRY & T Halisig Iy (3. am,
) f.u=.)
(D) None of the above (D) ST & @ IS T&T
86. This Haryanvi sportsman received Dhyan [ 85 fra e feersh i Il & fog e
Chand Award 2020 for wrestling R 2020 forer ?
(A) Om Prakash Dahiya (g) 3N R afea
(B) Netarpal Hooda (B) 3"“':”5'@ 1
(C) Satbir Singh Dahiya (C) wasiit &g afean '1%’;5,
: ; (D) smfiie fire A
(D) Jagminder Singh A
S 86. 302 et o foheat R Rm & 7
86. How many odd days are there in ye : A o ®B) 3
(A) 0 g; ? . © 2 D) 1
©€) 2 ) . tiad in - W o S o & uedigw fm |
87. The Reserve Bank of India Nationaliz® (A) 1954 (B) 1949
the year
(A) 1954 ® 1949 fthe abore (©) 1956 ©) FHAFE A
i ‘dew xas bumd swd % %EF ﬁﬁ%ﬁ !TTEIT H, ‘dew xas huma sura',W -
88. In a certain language, 06V © ., "jew teP? | he is eating mangoes’, ‘dew tepo qua' ¥
" means ‘he is eating mangoeam'i ‘gut t2° :% he sells toys’ 31 ‘sut time sura’ 1 374 &
R qua’ means he sells w&;:s,. Which W"f‘f ‘I li,ke mangoes’ | WTST & F7-8 16& H add
ﬁ sura’ meam;I gk;e;ﬂf‘ ge, and ‘mang%®® 1:: ?ﬁ("mang‘Oes'? ot o
i in the languag il il ‘tep,ﬂ (A) ‘xas’ 3R ‘gura’ (B) ‘sura ‘tep’o
(&) ‘xas’ and ‘sura’ g; mand e [ O dew oo D) wad ﬂ“‘:e"
O ‘dow’ and ‘sure’ _ - 9 054,18 363K, quaa®
(C) ‘dew’ ant 56 and 918 P 6 11X .9 =1 wEwd -
%. The H.F.C.of 0.64, 18 257 © K
(A) 1.8 B 18 i ) .018 D) 18
(C) .018 ® arve at l'ff 0 SMC m% AVC a5 3t #R @ AVC T &
oW
%. the AVC _ grom ¥ — fgwerdil
SMC curve C::';nt of AVC curvijmum EA) s B) it
e Ma 4 C) ey A ' ,._76.,(
Vo (A) Lower g; Mini‘nu; ’ & N (];)—)q L s eMy
% (© Mid 18- \Da Ras womo S X1
B e j_ A\S Yep o que — e sy v -
Z::l_ b 4 i f A
| ‘\ﬁ\\%wi%_%o %83’3 PO ¢ Sex dme Sufa- VS ¥

S T i SRR
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English Langu2g®

. tical
The following sentence i gmm:::;e to
error or jdiomatic error in Yo Youd choose
find out that part of the gentence an o
the alphabet of that part as your answer.
I don’t know whether Karthik is
equally good as Sanjay.
(A) Idon’t know
(B) whether Karthik
(O is equally good
(D) as Sanjay
Fill in the blank with appropriate form of the
verb from the alternatives given below them.
By next July, we living here
for two years.
(A) shall have been
B) will
(C) will be
(D) shall be

Give one word substitutes for the
following from the alternatives
given below them.

Not large enough in amount or
size, meagre

(A) Sovereign

(B) Solemn

(C) Slander

(D) Skimpy

Add suitable question tag to the following
from the alternatives given below them
He isn’t a strong man, 9

(A) does he (B) doesn’lz he
(C) wasn’t he D) is he

In the following questions, you age required
to give the names of the placeg where the
noun subject is kept, grown or ma
the following with the help of the al
given below them :

de answer
ternatives

Provisions are kept in the
(A) Zoo B) Pantry
(C) Aviary (D) Kiln

96,
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98.

99.

100.
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< i ol 3 et @89
— FEaE|

&) T

(B) ®fy

(©) yem

(D) 9 @ ¢

T I ST JeTR 1 1

@ wgafm

B) A @

(C) gt g

(D) ¥ A HK 78

o & o w1 A Ram @ A 4R

FAISR, IV FEdE |

(A) Tt

B) e

L

(D) T 8 F T

e a1 it & Tt forg ot fafd
HEaTd ? |
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